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0 O #include<stdio.h>
00 int main(void){printf("O 0000 \n");
O0 printf("O 0000 \n"); return 0;}
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finclude < stdio.h >

int main(void){

goo 123
oodn 3.141592

00 Ooooog
O D num = 123;

oo pi = 3.141592;
00[®] str200="000007;
od printf(” On”, num);
oo printf(” On”, pi);

oo printf(” On”, str);

return 0;

}
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SIataisiatalaiatalatalaliats finclude< stdio.h >

int main(void){
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U0 int m, n;
130 7 =20
O0 printf("’O0 0000000000 O0O0OON);
130 7=6

(
13x 72091 00 printf(’000O07); scanf(””, );

00 printf("00007); scanf("[@ [, [@));
00 printf("%d + %d = %d0n”, m, n, >;
00 printf("%d — %d = %d0n”, m, n, )
00 printf("%d x %d = %d0n”, m, n, [@]);
0 0 return 0;
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o0 1 2 3 finclude < stdio.h >

int main(void){
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OO0 printf(?|DO000OOOO P);
00 return 0;
}
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gd finclude < stdio.h >
oo int main(void){
oo
oo 00 printf("| 0000000 [);
oo
gd 00O return 0;
RN }
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#include<stdio.h> good
int main(void) a=(0000
{ b=|0000

000 int a = 35, b = 7;
O0d0 a=a + 10;

000 b="5b - 11;

000 printf("a = %d0n", a);

000 printf("b = %d0n", b);
000 return 0O;
}
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#include<stdio.h> good
int main(void) a:
{
00 int a = 35, b = 7;

a=a + b;
OO0 b =a + b;
000 printf("a = %d0n", a);
U000 printf("b = %d0n", b);

000 return O;
}



